[image: image1.png]4. The displacement of transverse waves on a uniform string with mass density 7.5
grams/meter is given by y(x, t) = 0.05 sin (4.3x + 84.0t) where y and x are measured in
meters and t in seconds. Determine:

a) the amplitude (in cm)

b) the wavelength (in meters)

c) the frequency (in Hz)

d) the direction of propagation

e) the propagation speed (in nmv's)

f) the tension in the string (in N)

g) the average power transmitted by the wave (in W)




(Please show each step of your solution and FINAL ANSWERS. Thank you.)

